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FUKIEN SECONDARY SCHOOL
S2 First Term Uniform Test (2020-2021)
History
(45 minutes)

Date: 23" October 2020 Name:
Time: 8:30 a.m.-9:15 a.m. Class: No.:

Instructions to Candidates:

1. The full mark of this paper is 70.

2. Write ALL answers on the answer sheets provided.

3. Hand in both the question paper and the answer sheets at the end of the test.

Part A Multiple Choice Questions (10 marks)
Choose the best answers.

1. The Industrial Revolution is also called
A. the Age of Steam
B. the Age of Machines
C. the Age of Technology
D. the Age of Production

2. Which of the following industries did mechanization first take place?
A. Coal mining
B. Textile industry
C. Car industry
D. Communication industry

3. Which of the following descriptions of the domestic system is correct?
A. Production is done at home using big and heavy machines.
B. Production is done at home using simple hand tools or basic machines.
C. Amode of farming production that big and heavy machines are used.
D. A mode of farming production that simple hand tools or basic machines are used.
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4. Which of the following was not the reason for the beginning of the Industrial Revolution in
Europe?

A.
B.
C.
D. New inventions of machine

5. Which of the following is not one of the uses of coal?
A.

B.
C.
D. Produce anesthetic

Rise in population
Decline in absolutism
Accumulation of capital

Generate steam
Melt iron
Generate coal gas

Part B Fill in the Blanks (14 marks)

Fill in the blanks with the words provided in the boxes below.

agriculture electricity Enclosure animal oil
Movement
industry human patents coal feudalism

1. During the Industrial Revolution, machines gradually replaced _ (a) power and
(b)  power in production.

2. During the Industrial Revolution, industry gradually replaced traditional _ (c) as the main
pillar of the economy.

3. With the decline of _ (d) , trade was no longer controlled by nobles.

4. In 1623, Britain granted _ (e)  to inventors to protect their rights.

5. In 1882, the invention of the first electric power system marked the start of the Age of _ (f) .

6. By the end of the 19" century, _ (g)  had replaced steam as the dominant energy source used to
power industrialization.
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Part C Matching (10 marks)

Match Column A with Column B.

Column A
(a) Watt M
(b) Edison (i)
(c) Cartwright (iii)
(d) Arkwright (iv)
(e) Hargreaves (v)
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Column B
He invented the Spinning Jenny.
He invented the Water Frame.
He invented the Power Loom.
He improved Newcomen’s steam engine.
He invented the first electric power system.

Part D Data-based Questions (16 marks)

1. Study Source A.

SOURCE A

The following extract shows some information about the birthplace of the Industrial Revolution.

Many factors contributed to the start of the Industrial Revolution in this
country. First of all, it had abundant coal and iron. They were important
industrial materials at that time. Besides, it enjoyed political and social
stability. It also had many colonies which provided raw materials and
markets for manufactured products. ...

(@) Identify the birthplace of the Industrial Revolution shown in Source A. (2 marks)

(b) Explain why the Industrial Revolution first started in the country mentioned in question (a)

with reference to Source A.

(6 marks)



S2 History Page 4 of 4 pages

2.

Study Source B.
SOURCE B

The following extract shows some information about the villages during the Industrial Revolution
in the early 18" century.

This movement started in the 18" century. Rich farmers enclosed the
‘common land’. They forced small farmers to sell their farmlands in order
to form large farms. ... Many farmers lost their farmlands or jobs. They
were forced to leave their villages.

(@) Identify the movement shown in Source B. (2 marks)

(b) How did this movement lead to the start of the Industrial Revolution? Explain your answer
with reference to Source B and using your own knowledge. (6 marks)

Part E Long Questions (20 marks)

In this part, the contents carry 18 marks and the format of presentation carries 2 marks. Candidates are
required to use complete sentences to answer all questions.

1.

(@) What was the Industrial Revolution? (3 marks)
(b) Describe any three features of the Industrial Revolution. (9 marks)

What were the causes of the Industrial Revolution? Explain your answer with reference to the
following aspects:

(&) World trade centred on Europe (3 marks)
(b) Scientific and technological development (3 marks)

END OF PAPER



